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4x? = 5xy—6y? = (ax+by)(cx+dy) BE A5H
o] gh2?

4x? — 5xy — 6y? = (4dx + 3y)(x — 2y)
(ax + by)(cx + dy) = (4x + 3y)(x — 2y)
ac =4, bd = -6

. ac—bd=4-(-6) =10




SR (6%~ 3x 4 2) (2 + Bx + 6) - 60 & RS

O (x+4)(x=3)(x*+x+5) @ (x-4)(x+3)(x*-x+4)
® (x+6)(x—2)(x2+x+5) @(x+4)(x—3)(x2+x+4)

® (x—4)(x+3)(x* +x+4)

~&B

(x2 = 3x + 2)(x + 5x + 6) — 60
=(x=1)(x=2)(x+2)(x+3) - 60
= (x—1)(x+2) x (x=2)(x+3) — 60
= (s + x - 2)(x% + x - 6) - 60
P+x=AR FOH
(A-6)(A-2)-60=A>-8A-48
= (A-12)(A +4)

=2+ x-12)(x2 +x+4)
=(x+4)(x-3)(x2+x+4)




TR A4 % 316 - 1 & o] Wol A shs 47t ohd 219
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316 -1=(38-1)(3°+1)
=(3*-1)(3*+1)(38+1)
=(32-1)F2+DB*+1)(3%+1)
=B-1D)B+1E+1)B*+1)(3%+1)
=2x4x10X 82X 6562




a=1+ V3 b=1- V3, - o g
a

D -4+2 @ -2v2 ® 22
@4«/5 ® 62

B

ab=(1+V2)1-V2)=1-2=-1
a+b=(1+vV2)+(1-v2)=2
a-b=(1+V2)-(1-V2)=2+2
_b?*-a®> —(a+b)(a-Db)
b

Q>

ab
—2x24/2
-1

S

a
=42




7. a-b=12% 9, a2 -8a+ b? +8b—2ab + 16 ] Fr& +51H?

D 36 @64 ® 49 @ 16 ® 25

~&B

a® —8a+ b*> +8b —2ab + 16
=a?-2ab + b? + —-8a + 8b + 16
= (a-b)>-8(a-b) +16
=(a-b-4)?

= 64




